Soustraction Avec Un Zéro (C)

600
-239

100
-52

700
- 600

800
-451

100
-56

700
- 661

200
-132

Calculez la différence.

100 200 300
-22 -71 - 60
700 600 100
- 639 - 300 -76
800 800 600
- 141 - 537 - 548
500 800 200
- 281 - 580 -190
700 500 600
- 24 -63 - 539
300 400 800
-12 - 240 -714
500 600 100
- 55 - 108 -46
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Soustraction Avec Un Zéro (C) Réponses

Calculez la différence.

600 100 200 300
-239 -22 -71 - 60
361 78 129 240
100 700 600 100
-52 - 639 - 300 -76
48 61 300 24
700 800 800 600
- 600 - 141 - 537 - 548
100 659 263 52
800 500 800 200
-451 - 281 - 580 -190
349 219 220 10
100 700 500 600
-56 - 24 -63 - 539
44 676 437 61
700 300 400 800
- 661 -12 - 240 -714
39 288 160 86
200 500 600 100
-132 - 55 - 108 -46
68 445 492 54
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